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ANTHROPOLOGY
Paper - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

10.

11.

All questions are compulsory.

The study of growth is also known as

(A) Auxolology (B) Anatomy

(C) Morphology (D) Palaeontology

The most commonly used method of sequencing DNA was developed by
(A) Oswald Avery (B) Barbara McClintock

(C) Francis Crick (D) Fred Sanger

In Palmar dermatoglyphics, after main line (DCBA) formula has been given, the main line
index is calculated by taking into account

(A) Dand A (B) CandD

(C) A,CandD (D) A,B,CandD

Which of the following primates is our closest living relative ?

(A) Gorilla (B) Orangutan

(C) Chimpanzee (D) Gibbon

Circular DNA is found in

(A) Ribosomes (B) Golgi bodies

(C) Mitochondria (D) Lysosomes

Random fluctuation of gene frequencies in small populations is referred to as
(A) Genetic drift (B) Gene flow

(C) Migration (D) Natural selection

Which one of the following castes in South India is known for matriarchal system ?
(A) Lingayat (B) Numbudri Brahmin

(C) Nayar (D) Okkaliga

Who among the following propounded the concept of little and great traditions ?
(A) G.P. Murdock (B) Robert Redfield

(C) S.F. Nadel (D) Bronislaw Malinowski

The term ‘Ethnoscience’ is closely related to

(A) Diffusionism (B) New Ethnography

(C) Evolutionary Anthropology (D) Functionalism

Who proposed that a fieldworker should empathize with the natives during the course of
anthropological field work ?

(A) Margaret Mead (B) Bronislaw Kasper Malinowski

(C©) A.R. Radcliff Brown (D) M.N. Srinivas

A residence pattern where a newly married couple establishes a residence apart from both
husband’s and wife’s relatives is known as

(A) Bilocal (B) Patrilocal

(C) Neolocal (D) Avunculocal
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12.

13.

14.

15.

16.

17.

Rites symbolising birth, marriage and death are called
(A) Initiation rites (B) Rites of passage
(C) Rites of reversal (D) Rites of confirmation

Which one of the following is the earliest Mesolithic site of India ?

(A) Bagor (B) Guntoor

(C) Jwalapuram (D) Lagnajh

Which of the following represents a habitational site of lower Paleolithic culture of
Europe ?

(A) Swanscombe (B) Terra Amata

(C) Torralba (D) Somme Valley

Which statement about Down’s syndrome are correct ?

1. The frequency increases dramatically in mothers over the age of 40.

ii.  The cause is a non-disjunction when chromosomes do not separate during the first
meiotic division.

iii.  Affected individuals have an extra autosome.

iv.  The long time lag between onset of meiosis in ovarian tissue and its completion is
most likely the reason for increased incidence in older mothers.

v.  Itis triosomy 17.

Codes :

(A) i,iv,v B) i, ii, iii, v
(©) i, iii, iv, v (D) i, ii, iii and iv

The typical features of a balanced polymorphism are
1. There is heterozygote advantage.

ii.  Population size is very small.

iii.  There is some infectious disease.

iv.  There is some inherited disease.

v. It occurs only in Africa.

Codes :
(A) 1,11 &iv (B) ii,iii,iv& v
©) 1,11, 1 &V D) i,ii,iv&vV

Human Leukocyte Antigens (HLA) are important from the population genetics and clinical

point of view because :

1. They have X-linked inheritance.

ii.  They are found on the surface of the white cells.

iii.  The HLA system is critical in matching donors and hosts for organ and skin transplantation.

iv.  HLA system has minimal population variation.

V. Some HLA alleles are associated with protection from malaria, HIV, Hepatitis-B
and bacterial diseases.

Codes :
(A) i,ii,v B) ii,iii, v
(©) ii,iv,v (D) i, ii, iii, iv
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18.

19.

20.

21.

The clinical features of Alkaptonuria are

1. Autosomal recessive disorder

ii. It is caused by the deficiency of homogentisic acid oxidase.
1. Itis a lipid metabolic disorder.

iv.  Dark pigmentation of tissue and black urine.

v. It was discovered by Folling.

Codes :
(A) 1i,iv,v B) 1i,ii,1v
(C) i, iv, v (D) ii, iii, iv, v

Dermatoglyphics is used in

1. Population variation study
ii.  Personal identification

iii.  Twin zygosity

iv.  Clinical study

v.  Age determination

Codes :
(A) 1,11, 1 &V (B) ii,iii,iv& v
(C) i,iil,iv&wv D) i, i, il &iv

In areas where UV-radiation is high, light skinned people are at disadvantage because :
1. UV-rays change their blood groups.

ii.  UV-rays cause congestion of sub-cutaneous capillaries.

iii.  Destruction of skin cells and edema.

iv.  UV-rays also damage DNA, which can lead to skin cancer.

v.  Most skin cancers are malignant.

Codes :
(A) i, iii, iv B) i,ii, iv, Vv
(C) i, iv, v (D) ii,iii, iv, v

Which of the following statements are true ?
1. A class does not rely on the ideology of blood.
ii. A class is recognized by one’s relationship to the means of production.

iii. A class represents a bounded system and does not cut across other forms of social
organization.

iv.  Class distinctions can be maintained through ‘patron-client’ relationship.
(A) 1iand ii are correct.

(B) 1, ii and iii are correct.

(C) iiandiv are correct.

(D) iii and iv are correct.
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22,

23.

24.

25.

26.

Which of the following problems are experienced by the displaced people in the Process
of Rehabilitation and Resettlement in an alien environment ?

. Marginalization ii.  Loss of livelihood
iii.  Exclusion iv.  Impoverishment
Codes :

(A) 1,1i and iii are correct. (B) ii and iii are correct.
(©) 1i,1i,1ii and 1v are correct. (D) 1iv and iii are correct.

Which of the following theories are associated with the origin of caste in India ?

1. Varna theory ii.  Racial theory

iii.  Occupational theory iv.  Ethical theory

Codes :

(A) 1, 1ii and iii are correct. (B) 1iv,iii and i are correct.
(C) i, iv and iii are correct. (D) 1, 1ii, iii and iv are correct.

Which of the following are the characteristic features of foraging society ?
1. Band organization

ii.  Small in size

iii.  Equigeniture

iv.  Pre-agricultural stage of economy

Codes :
(A) 1andii are correct. (B) 1iv,ii and iii are correct.
(C) i, 1ii and iv are correct. (D) all are correct.

Which of the following are the main components of Tribal sub-plan strategy ?
1. Integrated Tribal Development Projects

ii.  Modified Area Development Approach

iii.  District Rural Development Agency

iv.  Integrated Rural Development Agency

Codes :
(A) 1 and iii are correct. (B) 1andii are correct.
(C) iii and iv are correct. (D) ii and iv are correct.

Which of the New Ethnographic approaches dwell upon refinement in data collection and
interpretation ?

1. Etic approach

ii.  Emic approach

iii.  Conceptualization of linguistic model
iv.  Comparative method

Codes :
(A) 1i,1i,1ii and iv are correct. (B) iii, 1i and iv are correct.
(C) 1, 1ii and iii are correct. (D) 1ii,1and iv are correct.
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27.

28.

29.

30.

31.

Which of the following are Neolithic sites of Middle-East Asia ?

1. Karim Shahir ii.  Natufia

ii. Beidha iv. Jarmo

Codes :

(A) 1,11 and iv are correct. (B) 1iand iv are correct.

(C) iii and iv are correct. (D) ii, iii and iv are correct.

Which of the following are Neolithic sites of India ?

1. Adamgarh ii.  Tekkal kota

iii.  Nevasa iv.  Gufkral

Codes :

(A) 1,1ii and iv are correct. (B) ii and iv are correct.
(C) 1,11 and 1ii are correct. (D) all are correct.

Which of the following evidences were found from the sites of Indus Valley Civilization ?

1. Painted walls ii. Hemp

iii.  Cotton iv. Hollow metal objects
Codes :

(A) i, iii and iv are correct. (B) iii and iv are correct.
(C) iiandiv are correct. (D) all are correct.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Onges are very prone to genetic drift.

Reason (R) : Genetic drift occurs in populations of relatively small numerical size.
In the context of above two statements, which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true and (R) is not the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Lactose intolerance is the inability to digest lactose.

Reason (R) : Lactose is a carbohydrate present in sugarcane.

In the context of above two statements, which one is correct ?

Codes :

(A) Both (A) and (R) are correct. (B) Both (A) and (R) are wrong.
(C) (A)is wrong, but (R) is correct. (D) (A) is correct and (R) is wrong.
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32.

33.

34.

35.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled

as Reason (R) :

Assertion (A) : Heritability is a measure of the proportion of the total variation observed
in a population that can be attributed to genetics rather than to the environment.

Reason (R) : Heritability can range from zero to two.
In the context of above two statements, which one is correct ?
Codes :

(A) Both (A) and (R) are correct.
(B) Both (A) and (R) are wrong.
(C) (A)is correct and (R) is wrong.
(D) (A)is wrong and (R) is correct.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Sickle cell trait provides resistance against malaria.

Reason (R) : Hemoglobin S is a structural variant of haemoglobin.

In the context of above two statements, which one is correct ?

Codes :

(A) Both (A) and (R) are correct. (B) (A)is correct and (R) is wrong.
(C) (A)is wrong and (R) is correct. (D) Both (A) and (R) are wrong.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Basis of body mass index is a measure of obesity and overweight.
Reason (R) : BMI is defined by Weight (kg)/Height (m)?

In the context of above two statements, which one is correct ?

Codes :

(A) Both (A) and (R) are wrong. (B) Both (A) and (R) are correct.

(C) (A)iscorrect and (R)is wrong. (D) (A)is wrong and (R) is correct.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : ‘Human Sudden Infant Death Syndrome’ (SIDS) is the leading cause of
death of young infants in U.S.A.

Reason (R) : This is due to the parents’ practice of isolating very young infants in a
crib away from themselves.

In the context of above two statements, which one of the following is correct ?
Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.
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37.

38.

39.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled

as Reason (R) :

Assertion (A) : The internal cohesion of a group depends on the degree of external pressure.

Reason (R) : This principle is very useful and helpful to understand why the group
identity can be strong or weak.

In the context of above two statements, which one of the following is correct ?

Codes :

(A) (A)is wrong and (R) is correct.

(B) Both (A) and (R) are correct.

(C) (A)is correct but (R) is not correct explanation to (A).

(D) (R)is wrong and (A) is correct.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled

as Reason (R) :

Assertion (A) : A theory is an explanatory framework containing a series of statements.

Reason (R) : It helps us to understand why something exists, which also suggest,
patterns, connections and relationships that to be confirmed by new research.

In the context of above two statements, which one of the following is correct ?

Codes :

(A) (A)is correct and (R) is wrong.

(B) (A)is correct and (R) is the correct explanation of (A).

(C) (R)is correct and (A) is wrong.

(D) Both (A) and (R) are not correct.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled

as Reason (R) :

Assertion (A) : Malinowski stayed in the Trobriand Island from 1913 to 1918, which is
considered as the longest stay in the field by any known anthropologist.

Reason (R) : It was a forced stay for Malinowski because of the First World War as
he was a Polish and was considered as ‘a man from enemy nation’.

In the context of above two statements, which one of the following is correct ?

Codes :

(A) Both (A) and (R) are correct, and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) Both (A) and (R) are false.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled

as Reason (R) :

Assertion (A) : As proposed by Franz Boas, ‘cultural relativism’ means while studying
other’s culture, an anthropologist must not make his own cultural values as the yard
stick to judge other’s cultural values, lest, he will be victim of ‘ethnocentrism’.

Reason (R) : ‘Ethnocentrism’ considers one’s own cultural value superior to others.

In the context of the two statements, which of the following is correct ?

Codes :

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) Both (A) and (R) are false.
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41.
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Pilot survey helps in the formulation of research design.
Reason (R) : Itis essential in social survey.

In the context of the two statements, which one of the following is correct ?
Codes :

(A) (A)is correct, but (R) is wrong.  (B) Both (A) and (R) are correct.
(C) (A)is wrong, but (R) is correct. (D) Both (A) and (R) are wrong.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Social inequality has been the feature of Indian society.

Reason (R) : Traditionally social relations in India were based on the notations of
purity and pollution.

In the context of the above two statements, which one of the following is correct ?
Codes :

(A) (A)is correct, but (R) is not the correct explanation of (A).

(B) Both (A) and (R) are wrong.

(C) Both (A) and (R) are correct.

(D) (R) is correct, but (A) is wrong.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Lower Palaeolithic sites in India seldom provide full cultural
information of early man.

Reason (R) : Fire hearth and other activity details are almost absent in the primary
lower Palaeolithic sites of India.

In the context of above two statements, which one of the following is correct ?
Codes :

(A) (A)is wrong, but (R) is correct.  (B) Both (A) and (R) are wrong.
(C) (A)is correct, but (R) is wrong. (D) Both (A) and (R) are correct.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Sedentary life is always a definite characteristics feature of Neolithic
culture.

Reason (R) : Slash and burn cultivation does not demand sedentary life.
In the context of above two statements, which one of the following is correct ?
Codes :

(A) Both (A) and (R) are wrong. (B) (A)is wrong, but (R) is correct.
(C) Both (A) and (R) are correct. (D) (A) is correct, but (R) is wrong.
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44. Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Urban metropolis characterises an internal organisation dependent
on specialised division of labour.

Reason (R) : Division of labour is the pre-requisite for the emergence of any metropolis.
In the contest of above two statements, which one of the following is correct ?

Codes :

(A) Both (A) and (R) is correct. (B) (A)is wrong, but (R) is correct.

(C) (A)is correct, but (R) is wrong. (D) Both (A) and (R) are wrong.

45. Choose the correct sequence of the palmar configurational areas in the order of their
description :

(A) Thenar — Interdigital I — Axial triradius — Hypothenar
(B) Thenar — Axial triradius — Hypothenar — Interdigital I
(C) Hypothenar — Thenar — Axial triradius — Interdigital I
(D) Interdigital I — Thenar — Axial triradius — Hypothenar

46. Identify the correct sequence of the following apes in the order of their closeness to
humans :

(A) Gibbon — Chimpanzee — Gorilla — Orangutan
(B) Orangutan — Chimpanzee — Gorilla — Gibbon
(C) Chimpanzee — Gorilla — Orangutan — Gibbon
(D) Gorilla — Chimpanzee — Orangutan — Gibbon

47. Choose the correct sequence of steps involved in the process of Genetic counselling :

(A) Communication — Risk assessment — Discussion of options — Long term contact and
support — Medical diagnosis

(B) Medical diagnosis — Risk assessment — Communication —Discussion of options —
Long term contact and support

(C) Risk assessment — Medical diagnosis — Communication —Discussion of options —
Long term contact and support

(D) Long term contact and support — Discussion of options — Risk assessment —
Communication — Medical diagnosis

48. Identify the correct sequence of ecological rules in ascending order of their
pronouncement

(A) Hesse’s Rule — Gloger’s Rule — Bergmann’s Rule — Allen’s Rule
(B) Bergmann’s Rule — Allen’s Rule — Hesse’s Rule — Gloger’s Rule
(C) Gloger’s Rule — Bergmann’s Rule — Allen’s Rule — Hesse’s Rule
(D) Allen’s Rule — Hesse’s Rule — Bergmann’s Rule — Gloger’s Rule
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50.
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52,

53.

Paper-I11

Identity the correct sequence of the classic books in ascending order of their publication :

(A)

(B)

©

D)

Origins of Man (John Buettner — Janusch) — Up from the Ape (E.A. Hooton) — An
Introduction to Physical Anthropology (Ashley Montagu) — Manual of Physical
Anthropology (Juan Comas)

An Introduction to Physical Anthropology (Ashley Montagu) — Up from the Ape
(E.A. Hooton) — Manual of Physical Anthropology (Juan Comas) — Origins of Man
(John Buettner — Janusch)

Manual of Physical Anthropology (Juan Comas) — Up from the Ape (E.A. Hooton) —
Origins of Man (John Buettner — Janusch) — An Introduction to Physical
Anthropology (Ashley Montagu)

Up from the Ape (E.A. Hooton) — Manual of Physical Anthropology (Juan Comas) —
Origins of Man (John Buettner — Janusch) — An Introduction to Physical
Anthropology (Ashley Montagu)

Identify the correct sequential order of social divisions of Indian Society.

(A)
(B)
©
D)

Varna — Caste — Sub-caste — Lineage
Lineage — Caste — Sub-caste — Varna
Caste — Sub-caste — Varna — Lineage
Sub-caste — Varna — Lineage — Caste

Arrange the following books in order they appeared :

i.
il.
iii.
1v.

Hindu of the Himalayas by Gerald D. Berreman

African Political System by E.E. Evans-Pritchard with M. Fortes
Cultural Materialism by Marvin Harris

The Golden Bough by James Frazer

Codes :

(A) Evans-Pritchard — Frazer — Harris — Berreman
(B) Harris — Berreman — Evans- Pritchard — Frazer
(C) Frazer — Evans-Pritchard — Berreman — Harris
(D) Evans-Pritchard — Harris — Frazer — Berreman

Identify the correct sequential order of the tribal revolts that took place in India during the
20™ century.

(A)
(B)
©)

D)

Bastar Tribal Uprising — Rampa Rebellion — Gond and Kolam Revolt — Bondo
Movement

Bondo Movement — Rampa Rebellion — Gond and Kolam Revolt — Bastar Tribal
Uprising

Gond and Kolam Revolt — Rampa Rebellion — Bondo movement — Bastar Tribal
Uprising

Rampa Rebellion — Bondo Movement — Bastar Tribal uprising — Gond and Kolam Revolt

In what sequence Anthony Wallace in his book ‘Religion : An Anthropological View’ has
arranged the various forms of religious beliefs and practices ?

(A)
(B)
©
D)

Individualistic cult — Communal cult — Shamanistic cult — Ecclesiastical cult
Shamanistic cult — Communal cult — Individualistic cult — Ecclesiastical cult
Individualistic cult — Shamanistic cult — Communal cult — Ecclesiastical cult
Communal cult — Individualistic cult — Shamanistic cult — Ecclesiastical cult
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5S.

56.

57.

58.

Identify the correct sequence involving the sacred complex.

(A) Sacred specialists — Sacred zone — Sacred centre

(B) Sacred geography — Sacred performance — Sacred specialists
(C) Sacred specialists — Sacred centre — Sacred zone

(D) Sacred object — Sacred cluster — Sacred geography

Arrange the first appearance of the following material traits in order of their correct
sequences :

(A) Unbaked pottery — Burin — Point — Saddle and Quern
(B) Point — Burin — Unbaked pottery — Saddle and Quern
(C) Saddle and Quern — Unbaked pottery — Burin — Pottery
(D) Burin — Point — Saddle and Quern — Unbaked pottery

Arrange the following prehistoric sites in order of their correct chrono-cultural sequences :
(A) LaMadeleine — Thames Valley — Hassuna — Karim Shahir
(B) Hassuna — Thames Valley — Karim Shahir — La Madeleine
(C) Thames Valley — La Madeleine — Karim Shahir — Hassuna
(D) Hassuna — La Madeleine — Thames Valley — Karim Shahir

Arrange the following material traits in order of their correct chrono-cultural sequences :

(A) Painted grey ware — Ware with tan slip — Northern black polished ware — Ochre
coloured pottery

(B) Ware with tan slip — Ochre coloured pottery — Painted grey ware — Northern black
polished ware

(C) Northern black polished ware — Painted grey ware — Ware with tan slip — Ochre
coloured pottery

(D) Ochre coloured pottery — Northern black polished ware — Painted grey ware — Ware
with tan slip

Match the following Authors from List — I with the names of Books given in List — II :

List-1 List — 11
a. Martin and Saller i. Human Races
b. Stanley Garn ii. Growth at Adolescence
c. Tanner, IM 1ii. Worldwide Variation in Human Growth
d. Eveleth and Tanner iv. Lehrbuch der Anthropologie
Codes :
a b c d
(A) iv i i iii
B) iv iii i ii

<G 1 o1 i iv
D) iv 1 i i
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54.

5S.

56.

57.

58.

T Hepedl & el A 1 SIEROT BT
(A) ufe foreos — ufes &7 — Ut

(B) Ul el — Ufas FHoae — ufas fowst
(C) e Tomivs — ufe = — ufe &

(D) ufes %] — UTas TH=ad — Ut e

frefefaa mierer foetoarsti & Taet WeRreT § 37 o Tel 37T | SFafed Hifu ;
(A) Hedl TS — ATHTCREAT — g — ST 3R want

(B) 9E — AHYCIEH! — hedl GEUTS — ST 3 warnt

(C) ST 31T Tkt — THedl JIUTS — ATHIHAGET — GRS

(D) dAHUEREAT — gE — ST 3R =ekhl — Hedl Jeuie

frfefaad umifaeTiass wetl SS9 Tel WHTh HAIHT H T ST ;
(A) o TEfer — o7 H1el — EEGT — O TR
(B) BT — T TR — Y YR — o BEferd
(C) F = — o W — FIT IER — &G
(D) EEIAT — o e — X7 |1 — AT TR

fTeRad Wiee foIoarstt sl 37 el Wikahideh HIThATTIR SHaed iy :

(A) T gER 9ig — W) et aret die — STt vam 9ol 9 T 9iE - 19 97 9 31 gavie
(B) X e aret wig — TR T | T geviE — Fafad geR wie - 3T v 9vl ¥ T i
(C) 3O wam auf ¥ T vig — Fafd R vie — ¥ Fety aret wie — 160 37 ¥ T gevie
(D) TI%T T F T GRS — IO AW 0 § T wie — fAbd @y i — @) et gt vt

Tl — 19 fqu 7 fefaiae oigent @ e — 11§ &t T I § G ST :

e -1 =t - 11
a. Ol SR Yook i. o 89
b. W=t TH ii. T U ey
c. o, SIUH. iii. IogaTEE AT T FHA W
d. T SRR iv. Telad X TSt

F<
(A) iv i i i
@B) iv i i i
© i i i v
D) iv i i i
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59. Match the names of following scientists from List — I with their contributions given in

List—1I:
List -1

a. Sir Archibald Garrod 1.

b. Fred Sanger
c. Bernstein

List — IT
Inheritance of ABO blood groups
ii. Chromosomal theory
iii. Inborn errors of metabolism

d. W. Sutton and T. Boveri iv. DNA sequencing technique

Codes :

a b c d
(A) il iv i ii
B) i i1 iv ii
© i i i iv

D) i iv i i

60. Which one is not correctly matched ?
(A) Hardy-Weinberg equilibrium
(B) Polygeneic inheritance — Skin colour
(C) Multiple alleles — ABO blood group system
(D) Structural disorder of haemoglobin — Thalassaemia

— Gene frequency

61. Match the following scientists from List — I with discovery of fossils given in List —II :

List -1 List - II
a. Eugene Dubois i. Dryopithecus
b. Raymond Dart ii. Sivapithecus

c. G.E. Pilgrim iii. Australopithecus
d. E. Lartet iv. Homo erectus
Codes :

a b c
(A) iv i i
B) i iv il
<G 1 i i v
D) iv i i i

—_ . O

62. Match the following in List — I with List — II :

List -1 List - 11
a. Data 1. A provisional explanation of a phenomenon
b. Hypothesis ii. The broad statement of scientific relationships

verified through the testing of hypothesis

c. Theory iii. Scientific information

d. Scientific testing iv. The procedure by which hypothesis and theories are
verified, modified or discarded

Codes :

a b c d
(A) i i1 ii iv
B) i i i iv
© 1 i i iv

D) i i i v
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59.

60.

61.

T — [ H 3featad dment 6t ot — I 7 15T 7T 376 AR & |1 GHferd HiTe :

Tt — 1 =t - 11

a. WX 3tfpareg IR i. THlaT, TR G B S
b. e TR ii. sHEEMA fHg
c. TR iii. =ETTET S S
d. TG, geed A, Ao iv. SLUA.T. A dhh
FT :

a b c d
(A) il v i ii
(B) il i v ii
< i iii i v
D) i v i iii
freferfaa & @ 20 o gafea = & 2
(A) FTET-aTETa Hefer ~ S amgfa
(B) ST eI — @ H T
(C) =g Tedtet — ABO 7o 99 ST

(D) EErelifer s T [aHid — derditmar

et — 19 3T 7T Ssnfent b Gt — [1H U 0 Sferedt s @St ¥ aferd i
T -1 LU | |

a. g5iF feat i gEiTutIeRd

b. U T ii. Terenfuterra

c. ST fuettim i, SfRolurIesd

d. T TR iv. ey

E T

(=N

a b C d
(A iv i i i
B) i iv i i
© il i il iv
D) iv i i i

62. feAfaRad gdt — [ gat — I1 ¥ GAferd Hi
Tt ~1 et - 11
a. a1 i. Tordt uftaes =t iare s
b. gfeheTT ii. UReheTT o TIeTOT o HTEAH W GeAifud asieh Geiet bl
T faerRoT
c. fagia iii. SR ST
d. S qET0T v, o8 UishAT TEY aienea T AT fagidl ol Jeam=, STy
7 U R ST & |

%<

a b C d
(A) i i i v
(B) i i i v
© il il i iv
D) i i i v
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63. Match the following :

List-1

List - IT

a. Comparative approach to kin system 1i. Claude Levi-Strauss
b. Structural approach to myth ii. L.H. Morgan
c. Theory of needs

d. Concept of social drama

iii. Victor Turner
1v. Bronislaw Malinowski

Codes :
a b c d
A 1 i v il
B) i i i iv
© i 1 v il
D) 1 i i iv
64. Match an item in List — I with an item in List — II. Use the codes given below :
List -1 List - II
a. Dhumkuria 1. Nagas
b. Ghotul ii. Oraon
c¢. Selani Dingo 1iii. Muria Gond
d. Morung iv. Bondo
Codes :
a b c d
(A) i1 v i i
B) i i iv i
© 1 1 i iv
D) v 1 i il
65. Match the following :
List -1 List - II
a. The Jaffna Tamils i. P.R.T. Gurdon
b. The Khasis ii. ML.N. Srinivas
c. The Nayars iii. Kenneth David
d. The Coorgs iv. Kathleen Gough
Codes :

66.

a b c d
(A) i i i iv
B) i i1 iv ii
© iv i i
D) 1 iv il ii

Match an item in List — I with an item in List — II. Use the codes given below :

List -1 List - II

a. J.H. Hutton 1. Society in India
b. David G. Mandelbaum ii. Indian Society
¢. M.N. Srinivas iii. Caste in India
d. S.C. Dube iv. Caste in Modern India and Other Essays
Codes :

a b c d
(A) iv i il i

B) i iv i il
©) i i iv i
D) i i i v
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63. ATRa ol gHTCTT Y
Tt -1 Tt - 11
a. ATATR! AT A JoHIHE SUFH i, FAISE el 2
b. T 1 EXEATCHS SURTH ii. TATE. AT
c. 3avgHdT =l [5id iii. fogey =}
d. AT AT i SR iv. STl Sfetept
FT :
a b c d
(A 1 iii v ii
B) i dii i v
) 1 i v iii
D) i ii iii iv
64. T — 1 g — 113 91 Faferd s | e T T F 1 ST H
ol -1 Tt - 11
a. AHRAT i, A
b. e ii. 3@
c. g fem i, gREn e
d. #r&T iv. aret
%<
a b c d
(A) il v i ii
B) i iii v i
(C) i ii iii v
D) iv i i i
65. TeifeRd  gRfAdT a1
et -1 Tt - 11
a. ST&T aFeT i L3R e
b. @ ii. TA.EA. HitEE
c. AR iii. FA g
d. F iv. T TR
FT :
a b c d
(A) i i iii v
(B) il i v ii
(C) v 1ii ii i
(D) 1 v 1ii ii
66. T — I AT N Gl — I1 Sl TF & T GAAT B | e U T e BT STFT H
ol -1 Tt - 11
a. .U geA i. HrEEE e e
b. Sfae . Hectey ii. Ifea @EE
c. TAEA. e iii. FR< A e
d. Tad g iv. TR 39 AT 3fean Ug 37eY Uas
%<
a b c d
(A) v ii 1ii i
(B) i v ii iii
(C) il i v ii
D) i dii i v
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67.

68.

69.

70.

Paper-I11 28

Match the names of the books (List — I) with the dates of their publication (List — 1) :

List -1 List - II
a. Ancient Society by L.H. Morgan 1. 1859
b. Ancient Law by Henry Maine ii. 1871
c. Primitive Culture by E.B. Tylor iii. 1861
d. Origin of Species by Charles Darwin  iv. 1877
Codes :
a b c

(A) iv i i
B) i i v
<O 1 v i i1l
D) i i i iv

E"‘"“‘CL

Match the items in List — I with the items in List — II. Use the code given below :

List -1 List - II
a. Terracotta female figurines i. Burzahom
b. Black and Red ware ii. Lagnajh
c. Flexed Burial iii. Inamgaon
d. Pit Dwelling iv. Chirand

Codes :
a b C d
A 1 iv ii iii

B) i iv il i

<© i o1 i iv

(D) iv i i iii

Match the items in List — I with the items in List — II. Use the code given below :
List -1 List - II

a. Gravettian i. Lower Palaeolithic

b. Aterian ii. Chalcolithic

c. Patjitanian iii. Middle Palaeolithic
d. Sumerian 1iv. Upper Palaeolithic

Codes :

a b c d
(A) iv i i iii
B) iv il i ii

©) i i i v
D) i iv Qi i

Match the items in List — I with the items in List — II. Use the code given below :

List-1 List — 11
a. A. Zeuner i. Old Stone Age
b. R.J. Braidwood ii. Adam’s Ancestor
c. M.C. Burkitt  iii. Dating the past
d. L.S.B. Leaky 1iv. Prehistoric Men
Codes :

a b c d
(A) iv i i il
(B) i i i iv
© 1 iv o il
(D) i iv i il
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67.

68.

69.

70.

TXAHT & AW (G — I) & AT 34 TR i e (Gt — 11) i gaferd &

T -1 o -
a. UFHUC WS, TA.0T. A9 i 1859
b. TFEU o, TR B ii. 1871
c. ufafea #e=r, Tt 2@ iii. 1861
d. RIS 31 WS, =g Sifem iv. 1877
FHT
a b C d
(A) v 1il ii 1
B) i i v i
(C) it iv il 1ii
D) 1 1 1il v
Tt — [t B5T bt Gt — [1 %t T&T o 91 Gaferd Y | e T 7T e &1 T it |
Tt -1 Tt 11
a. Togt #t DB AR Yt 1. golem
b. AT TF ATA 1€ i, oTEAS
Cc. ISR T& &R iii. ST
d. TEET ® A (e gafern) v, R
%<
a b C d
(A) 1 iv il 1ii
B) il v ii 1
(@) il 1 1il v
D) iv i i i
Tt — 19 9% B gl — 1§ 9% % q19 eI Hifste | = ST 78 % 1 T i |
et -1 Tt - 11

a. WA i e qRrTeT e
b. 3T ii. TTHHTETOT et

c. UfeTSIeMET  iii. Wed YRTATSTOT St
d. gaREA iv. ST QRIITSIOT ST

%<
a b c d
(A) iv ii i iii
B) iv iii i ii
(C) i iii ii v
(D) i iv i i
A — 19 O &l gl — [ | A % T1Y GAd DT | = ST 7T %2 T JFhT Hife |
et -1 Tt - 11
a. T SR i. T TeToT 3

b. IS, ISIS  ii. 3TRH & oA
c. THE. FHIET  iii. A H HIeT LT
d. TA TGS, A v, TRITdEIEs "

%< :

a b C d
(A) iv iii i ii
(B) il ii i iv
(®) i v iii il
(D) iii iv i il
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Read the passage given below and answer the questions that follow :

Social scientists often make distinctions between societies that are large, industrialized,
complex, bureaucratic and stratified and those that are small, non-industrialized, egalitarian and
kinship oriented. People who operate in complex, bureaucratic organizations are expected to
behave towards one another in an objective and straightforward manner, without regard to
personal considerations. Social relations in these organizations should be based on universalism
— that is, determined by a universally applicable set of rules rather than personal statuses. Strong
kinship ties and obligations have no place within a bureaucracy. Decisions such as who gets
hired are to be determined by objective, universally applied criteria (examination results,
previous job experience, educational background) rather than by such particularistic
considerations as how the applicant is related to the personnel director.

In many traditional societies, people relate to one another in particularistic, not universalistic
terms. With particularism, people emphasize personal status relationships with one another,
such as kinship connections or common ethnic affiliation. A person is expected to show
particular loyalty to a kinsman because that person is a kinsman. Thus, in particularistic
societies, a person is likely to hire someone for a job because they have a special relationship
(such as being cousins) rather than because of any universally applicable set of criteria (such as
a high score on a standardized test).

In the developing world this basic value contrast between particularism and universalism can be
seen most dramatically in urban areas. Rural migrants, with their particularistic values, come to
cities seeking jobs in large corporations with bureaucratic norms of universalism. Western
bureaucrats assume that new workers must shed their particularistic values, which they see as
incompatible with bureaucratic structures. This notion was the starting point of an applied cultural
research project conducted by Peter Blunt (1980) on workers in Nairobi, Kenya. Blunt wanted to
examine hiring practices and organizational efficiency in several large companies to see whether
workers with a particularistic orientation were incompatible with the more universalistic orientation
of bureaucratic organizations.

71.  Which of the following is not true ?
Social scientists often make distinctions between :
(A) Large and small societies
(B) Industrialized and non-industrialized societies
(C) Bureaucratic and complex societies
(D) Stratified and egalitarian societies.

72. Which of the following is not a universally applicable criterion ?
(A) Examination results of the job seeker
(B) Personal relation of the job seeker with the employer
(C) Previous job experience of the job seeker
(D) Educational background of the job seekers

73.  Which of the following may be regarded as particularistic ?
(A) Common ethnic affiliation
(B) Personal status relationships
(C) Sharing common associational ties
(D) Common bondage of love and friendship

74. Where can the basic contrast between particularism and universalism be properly seen ?
(A) In rural areas (B) In urban areas
(C) In semi-urban areas (D) In tribal areas

75. In the applied cultural research project conducted among the workers in Nairobi, Kenya,
Peter Blunt wanted particularly to examine
(A) Hiring practices involving the workers
(B) Organizational efficiency of the workers
(C) Hiring practices and organizational efficiency in large companies.
(D) Bureaucratic structure and organization in large companies.
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T fe2 T aR=sT i afed 3R et o 3 AN
TS foRIE U TS § A B & SHE 9 T ged, ST, Siied, Aehee 9T S sr
¢ U fgdi oy, - SiieifiTen, WHAETE! q9m AGR; W SR & € | SAfedt, Aeheat SeAr § &
WWW@@%@W%%&WWWWW%WW—@%@W
TEART T W FEER B | T TS H GHTSTh-GaY Qrawiiiehar T LG g dey, 37 iy
Tt 1 Fruior St fef & omeR W 6, afew G ®0 ¥ o FEn-ae % SR W
Wwar%qﬁw@ﬁnﬁ#ﬁmﬁwﬁwmﬁaﬁ%%maﬁ%wﬁ%@ﬁﬁwﬁﬁ
HH % foTe forar smam, &1 FuRr axqfe, Fediigs 9§ @] 9Fevel (TeT & aremy, e HE-
3TV, Sretforeh gYf) & SMER W AT ST € 7 foF 30 UK % U Hi9-aer & 3R W
AT T I e & -7 Rear & |

3T TRURE TS H T TH-38R ¥ ThE T § SIS & ¢ 7 fF Fefifs €9 & | UhiAear
% HROT, AT RIRRT Tl 3 G ST Tl S AT fefq e IR &l 1 ot
sty 3 & | fopdlt =afed @ e o7uferd gl € T a7 fohdl AR ¥ U awRR (9 it o
HoRT SHHT RTATR & | 39 YT, THHSATYOT FHST | hig AR Fhdl TF AT ol B o o1 forar 5
TehdT & TSTah a1 3T fomis Tey / ReasRy & (T =IeR/HER/EHT 9TE/ae) 7 6 ol g
T Y AN IS TALUS-T=T (T4T fhl Tehiha TIeT § 3= 3ih i It i oote 9 |

TRt gMHaT & TRIT & ¥ ThHed 9T WEiEear & 99 gHaEt godl § W 3
T THIIRNCT €0 § @7 ST Tl € | T & &1 9e | 39 ¢ T & U1 19 % {olT o7 &, STar
RN AAGUS WIS Bid & | el AehEe I8 |iad & o 78 HIHh 3 Tl Jodi &l
TR Y § 57 o AHE T H I 9 € | Fe foR ieX sofe (1980) FRT RS, b |
ST & T H HRTo ATTRIN - TR e A ARG BT TR (65 o1 | s6ie 3 ael hurHar §
IR Bl TA-TG(q T HSCHS &Il T EFI (TEI0T) AT e & i I8 I & Tob (b
TR SHITH, ATHRIET Gl o AT Qi@ aTel ardeRoT § 3G df el ¢ |
71. Tr=fotEd o oo @@ T2 § 2

TS o ome: 3T’ e €

(A) Fed AT 77T TS o S (B) 3TENTeR T T-SHeifiTes TS o o

(C) FIhIEr qu Sifed Tt s aig (D) QI ael THATERT T9ST & g

72. fetatea o @ @1 Edifies €9 9 o 9FeUE el & 2
(A) R TS aTet & TRIET G
(B) IRt WIS aTed BT AT o |1 SR S
(C) =Rt WS Aot 1 9d 1 3T
(D) e IS aTet i TrIToTeR gy

73. Treteifaa 9 9 fod T HHET ST § 2

(A) TUF S Tay (B) aforTe fefer waiy

(C) THM TG Fay § ST (D) v a1 s & Syafe gy
74. TS T HEAHTHEAT % Sre AR 3R fhaH TIh €0 W 3@ ST qehal ¢ 2

(A) TEHOTETH (B) weliemH

(C) FEIEa & d (D) ST & |

75. G, %A1 § R ok Gag H HEaq AR Tighiash MY-IRAsH § 1l se ooy &9
T S BT TR o 2
(A) IR T 9l Tgia
(B) ISR ! TISTCHS ST
(C) S Hutal & Wil TgfeT qe SSIeHeh S&fa
(D) €l HuE T AIHME ST q2 TS
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UGC NET DECEMBER - 2014 PAPER-3 Date. 12/06/2015 Pg. 7
SUBJECT CODE & NAME:-(07)Anthropology

| ONO ANS | QNO ANS | QONO ANS | QNO ANS |
1 oA 26 c ys1oc o8
2 b 127 B 152 oA | o7 1
I3 A 128 B | 53 A | 718 |
|4 c 120 B 1 54 B | 75 |
s c 130 A | 55 B | 80 |
I 6 A 131 Db 1 56 c | 8 |
7 ¢ 132 ¢ o1 osToB o o821
| 8 B 1 33 A | 58 Db | 8 |
I s B 1 34 B | 59 A | 84 |
|10 B | 35 A | 6 D | 8 |
11 oc 13 B 1 6 b | 8 |
12 B | 37 B 1 e A | 8 |
113 c 13 b 1 6 c | 8 |
|14 B | 35 A& | e B | 8 |
|15 b 1 40 B | 65 B | %0 |
|16 A 1 41 c | e c | o1 |
17 B 142 b | e A | %2 |
|18 B | 43 D | e B | 9 |
|19 b 144 c |69 B | %4 |
|20 A 1 45 b | 70 b | 95 |
21 B | 4 c 1 71 oc | % |
22 ¢ | 41 B 1 72 B | 91 |
|23 b 148 c 1 73 B | 98 |
|24 b | 49 B | 74 B | 9 |
|25 B | 50 A | 75 ¢ |10 |

Z=ALL OPTIONS ARE CORRECT/ 1=A & B OPTIONS ARE CORRECT/ 2=A & C OPTIONS ARE CORRECT/
3=A & D OPTIONS ARE CORRECT/ 4=B & C OPTIONS ARE CORRECT/ 5=B & D OPTIONS ARE
CORRECT/ 6=D & C OPTIONS ARE CORRECT/ 7=A, C & D OPTIONS ARE CORRECT/ 8=A, B & C
OPTIONS ARE CORRECT
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